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Question Number : 1 Question Id : 405859106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The domain of the function flx)= Ja—x2 + 2+ 18[a, b], then a®+3b% s

equal to
Options :
405859391. 4
405859392. 8§

405859393. 12

405859394, 16

Question Number : 1 Question Id : 405859106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Online
Mandatory
20

20

80

Yes

0

1
4058595
Yes

null



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F(x)=Va—x? + J2+x PIU[a, 5] 8. T o? + 357 IR E:
Options:

405859391. 4
405859392. §
405859393. 12

405859394. 16

Question Number : 2 Question Id : 405859107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let Z denote the set of real numbers, = the set of integers and W the set of Non-
negative integers, and define a map

(1) fi:Z—=Zbyfi(x)= x°. Then f; ; 15 one-one and not onto.
()5 :R—=ERbyfilx)= . Then /> 1s one-one and onto.

(11) f3 : © — W by f3(x) = |x|. Then f3 1s not one-one but 1s onto.
(1) fy: Z — Zby falx)= 2. Then f4 1s neither one-one nor onto.

Then which of the following options is correct?
Options :
405859395, (1). (111). (1v) are true but (11) 1s false

405859396. All are true

405859397, (11). (111) and (1v) are true but (1) 1s false



405859398, (1). (11) and (1v) are true but (111) is false

Question Number : 2 Question Id : 405859107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O] = AR Y- &1 99w 5. - QU] &1 9d & aul W BURR
quTiee] &1 T=d 5 | afe

W) f;:Z—Z A= 8.d f, oo § R ABEH ol ol

(i) fo B — R ) =1 8. O £, Tho! qul 3Bes ¢ |

(iii) f3 : 7 — W, f4(x) = [x| 8. T f; THa! 78] § TR ATHEP ¢
(V) fy: 7 — 7. f)=x28. Tl £, 70 Thd g 7 ol HTBED 3l
ar

Options :

405859395, (1) (iid). (iv) I &, T (ii) T §

405859396, I AT &

405859397, (id). (iif) TT (iv) T €, TG (i) AT

40585939, (1) (if) T (iv) T § U (iii) T §

Question Number : 3 Question Id : 405859108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



J5+12i ++/5-12i

I —= =a+bi,.thena—bis:
N5+12i —+5-12i
Options :
5
405859399, 6

405859400. 12

I‘Jf'.-.l

405859401.

405859402, 12

Question Number : 3 Question Id : 405859108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
V5412 + /512

5+12i —Af5-12i

Options :

= a+ bi %’?‘ﬁ a—bW%:

-

405859399.

405859400. 12

I‘Jf'.-.l

405859401.

405859402, 12



Question Number : 4 Question Id : 405859109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

25 0 100
Let A be a 3x3 matrix such that adj(4)=| 0 4 3 |.then determinant of 4 is

0 100 100

Options :

| ]
n

405859403.

- |
=

405859404. -

405859405. 100

405859406. 1000

Question Number : 4 Question Id : 405859109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

25 0 100

HH3:3 D UD HMAEAD [T adi(4)=| 0 4 3 | BI04 DIIRMOS
(100 100

%

Options :

405859403. 15

J
—

405859404. 5

405859405. 100



405859406. 1000

Question Number : 5 Question Id : 405859110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total number of times the digit 3 will be written when listing integers from 1 to
1000 18

Options :

405859407. 297

405859408. 243

| )
e |
L]

405859409.

405859410. 300

Question Number : 5 Question Id : 405859110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

19 1000 T Uriep| ! feRa TR, 3@ 3 Pl [dha-l AR ferar S 2

Options :

405859407. 297
405859408. 243
405859409. 273

405859410. 300



Question Number : 6 Question Id : 405859111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The coefficient of x** in (1L + Izjlz (1 —_1'12} (1+ 1’34] 18

Options :

12 iy
405859411, Cg T3

lEC
405859412. 6

12 iy
405859413, Cs T 1

-

1204 5
405859414, B

Question Number : 6 Question Id : 405859111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1+D2 (1 +x12) (1 +2H T2 PTONS &
Options :

12 il
405859411, Cg T3

12C
405859412. 6

12 iy
405859413, CsT 1



-

LEC T
405859414. &

Question Number : 7 Question Id : 405859112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

]

i
: a-
Sum to n terms of the series log, a + log, | —
' b

f..3 ‘.I_ 4
+ log +log,| L |+
Bl Be| =3 |+ weemreeeens
b= ) b

15

Options :

o™y
£|:{ﬁ+l]| log, | i |—log, fn‘?:|
b

b=d

405859415.

b |

n a |
=|» log,. —J—lngf .m’:IJ
405859416. b

r

Ir o
—{ log,. (— ] +nlog, uh—‘
405859417, 2 b

n ¥
7}—[” log,. [_] + log, fff:!—‘
405859418, 2 b |

Question Number : 7 Question Id : 405859112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oAy |'(

2 3 40 ’
gt log, a + lngl.[%- +log, :w | ]ﬁgr[ﬂ-- E eeennn D VYT 1 UG HTART B

f‘-‘ﬁ

'|\ F)

Options :



™
£|:{ﬁ+1] lngi,| = |—Ingl, fn'}:|
b

[ %]

405859415.

b |

n a ) |
=7 log,. —J—lngf m’:J
405859416. b

I

n a
—{ log,. (— ] +nlog, uh—‘
405859417, 2 b.

" &l
_..[” log, [_] + log, fff]]
405859418, 2 b |

Question Number : 8 Question Id : 405859113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the sum of first 10 terms and first 26 terms of an A.P. are 190 and 1326
respectively. then find the sum of its first 50 terms.

Options :
405859419. 4900
405859420. 4924

405859421. 4950

405859422, 4980

Question Number : 8 Question Id : 405859113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

afe T AP & UUT 10 U] aUT WUH 26 UST & N HHRT: 100 GUT 1326 B, ol
U WYY 50 US| D1 g JTd BHIfTY |

Options :
405859419. 4900
405859420. 4924

405859421. 4950

405859422, 4980

Question Number : 9 Question Id : 405859114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

5 o .
If 1im 2 l_ lim 2= ‘{,\ . then k 15 equal to
r— .'I.'—]. 23k = — If".-—'

Options :

2
405859423, 3

7
405859424, 3

8
405859425, 3

10

405859426. 3



Question Number : 9 Question Id : 405859114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
5 S A,
-qﬁ Hm'\——l=lim 2 AMFﬁkW%[

) }
r—] X— 1 2k = _ k=

Options :

Ll |

405859423.

L |~

405859424.

| oo

405859425.

10
405859426. 3

Question Number : 10 Question Id : 405859115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: ¢
x+ xE:m nx, O<x< "
Let f: [0, 1] — Z be a function defined by f(x)= 2xcotx+ b, Kioge®
; 4 2
. T i
acos2x—bsinx, —<xsm
If fis continuous for 0<x <. then a® + 14067 is equal to
Options :

405859427. 0

405859428, =



405859429, 27*

| B ]

n
405859430. 2

Question Number : 10 Question Id : 405859115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. T
T+ﬂEHﬂﬂT. “Er{if
HHEIUD Do f: [0, 1] = E. f(x)=. 2xcotx+bh, .1‘51_:_1-5%.
' 9 Z
- Ly | . n g
acos2x—bhsinx. - <X&ER

eRIORUINE 81 3fE 0 < v < & o0 £HTA B, A1 &2 + 1400° ST B

Options :

405859427. 0

| ]

405859428. w

405859429, 27~

| 5%

n

405859430. 2

Question Number : 11 Question Id : 405859116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PEA) .
- — 1s equal to
3IN° XC08T X

Options :

405859431, tanx T ¢cotx + ¢

405859432, (tan x + cotx)* + ¢
405859433, tanx —cotx + ¢

405859434, 2(sec x tan x — cosec x cot x) + ¢

Question Number : 11 Question Id : 405859116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
* i'l., 3

[—F— TR T

5IN° XCO5™ X

Options :

405859431, tanx ~cotx + ¢

405859432, (fan x + cot x)* + ¢
405859433, tanx —cotx T ¢

405859434, 2(sec x tan x — cosec x cot x) + ¢

Question Number : 12 Question Id : 405859117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The solution of differential equation [_1‘-5- 2y7 ]% = Ji:18
Options :

405859435, X =) T ¢
405859436, ¥ =X *¢

405859437, X =¥ (" T ¢)

-

405859438, ¥ =X (x~ T ¢c)

Question Number : 12 Question Id : 405859117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HTDT FHTR (x+ 2,7 ]%: y BIgAgl

Options:

-
o

405859435, X =) T¢
405859436, ¥ =X~ *tc
405859437. X =y (" *¢)

405859438, ¥ =X (x” T ¢)

Question Number : 13 Question Id : 405859118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
The point diametrically opposite to the point (—1. 1) on the

. i) ) .
circlex“ +y —x—4y+1=01s

Options:

405859439, (—2. 5)
405859440, (2. —5)
405859441, (0. 3)

405859442, (2. 3)

Question Number : 13 Question Id : 405859118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qAZ +32 —x— 4y +1=0WR 65 (-1. 1) BT AT THE 65
Options :

405859439, (—2. 5)

405859440, (2. —3)

405859441, (0. 3)

405859442, (2. 3)

Question Number : 14 Question Id : 405859119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

The vertices of a triangle OAB are (0. 0). (a, 0) and (0. b) respectively. The
distance between its orthocentre and circumeentre 1s

Options:

405859443, (a + b)

405859444, (a—b)
1
405859445, 2

405859446. 2

Question Number : 14 Question Id : 405859119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U% FYS OAB & 21N (0, 0), (a. 0) TUT(0, b) T | THD GaD = qUl GRS &

daade:

Options :

405859443, (a + b)

405859444, (a—b)

-I*‘\II-.’F: +h:r

405859445. 2

ZJa® — bt
405859446. 2



Question Number : 15 Question Id : 405859120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The shortest distance between the lines 7= (i +2; 4 H-_] | },[f 3j+2k) and

F= (40 +5]+6k)+p(2f +3j+k) is

Options :

L units
405859447. 19

405859448 V19 uaits

3

units
405859449, Jﬁ

A
- 1ilrs
405859450. V19

Question Number : 15 Question Id : 405859120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
RIS 7= (i +2) 4 3)+ (i - 37+ 24) TUT 7= (47 +5)+ 6k) + (27 +3) + &) P AT
SRR

Options :

- TP

405859447. 19

405859448. V19 &9 é

405859449.



v

|

405859450. V19

Question Number : 16 Question Id : 405859121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
—% A A o, — T M
The projection vectorof @ =i —-3j —3k on b=3i-4j is

Options:

405859451.

= ]
405859452, JI9 19

124 365 363

405859453, 3 37 J

405859454, V1 —12]

Question Number : 16 Question Id : 405859121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

b=3i-4] W a=1-3] —3k SIYAT AREY 2|
Options :

405859451.



3

4 »
12 4
405859452, Voo Jio

12+ 364~ _36p

i g
405859453, 3 X 3

405859454, 21 =12

Question Number : 17 Question Id : 405859122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. 3 ¥ = “.) S 2 ;S
Given ‘ : ]=| 5 |=| and | ., |= J3 - If ¢ 1s a vector such that

— =

-y —'rl (] =
c—a-2b=3laxbh i .then ¢ - b 1s equal to

Options:

405859455, 2

b2 | =

405859456.

b |t

405859457.

b | Ln

405859458.



Question Number : 17 Question Id : 405859122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2|l 3 |oa 0 | 2 5| 5 RETeE AR G R & g
2o aheilad) BN

Options :

405859455, 2

| =

405859456.

I-Jl'.u

405859457.

bd |

405859458.

Question Number : 18 Question Id : 405859123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3
If 4 and B are two events such that P( 4| B) = ; and P(A'UB') L then
P(A)+P(B) =

Options :

405859459.

o0 | tes

405859460.



oo |

405859461.

11
8

405859462.

Question Number : 18 Question Id : 405859123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
ey
gig gl g1l 4 U B & [T p(4UB) = ; qur P(A'UB') 4%‘ dl p(4)+P(B)

Options :

el

405859459.

o0 | taa

405859460.

oo |

405859461.

11

405859462, 8

Question Number : 19 Question Id : 405859124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of gge]5° - _ch,@gcc 15¢ 18

Options :



405859463, W2

405859464, 33

405859465, —3v3

405859466, —4V2

Question Number : 19 Question Id : 405859124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
secls” —ﬁmscclﬁf’ Eﬁ[l:ﬂ?[‘%ﬂ

Options :

=

405859463, W2

405859464, 33

405859465, 343

405859466, —4V2

Question Number : 20 Question Id : 405859125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

cot 17 + cot 18 + cot 15 =



Options :

405859467, cot™12

405859468, cot 110

405859469, cot 16

405859470. cot™ 14

Question Number : 20 Question Id : 405859125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
cot 17+ cot 18 + cor 15 =

Options :

405859467, cot™12

405859468, cot 110

405859469, cot 16

405859470. cot 14

Mathematics Section B

SectionId : 4058596
Section Number : 2

Section type: Online



Mandatory or Optional : Mandatory

Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4058596
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 405859126 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let o and P be the roots of the equation x* — 6x — 2 = 0, with o > p. Ifa,=ao"-p"

-2a, .
for 5 > |. then the value of —”—-l is equal to
3a,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 405859126 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Wﬂﬂﬁw 3—&— 2=0P Ao TUIPE aU «>B Tl Al a,=a"—p"
p21 8 AL LPAARR I

3a

o



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 405859127 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If . B. v are the angles of a triangle. then the value of the determant
cotae  cotf coty

1 | l | 1s equal to
sin” o :-'.inlii sin” Y
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 405859127 Question Type : SA Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

cotot  cotPp coty

S o, p. y TP AYS & DIV 5, 7 AR | | ! || 1O RER
sin” o :-.in:Ii :,in:'-f

gl

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 405859128 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
.- 21
If 8 term in the expansion of | 3L 4 i contains equal powers of a and b.

b Na )

then value of # 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 405859128 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'., a f \ 'Iﬁ 'ﬂ 2 i
afg JJ:h‘ | FUIR T UG T o YT b & ITd SRISR . Al » STHA
g |

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 24 Question Id : 405859129 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{ :
] ———— |. then dy
| 1+18%2 o

If y=tan atx=01s

= 3x — 1+tzm
1+ 54x° )}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 405859129 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

s 8 :
qﬁ}-‘:tan_l[j—lﬁ}+taﬂ -1 J%fﬂr—ﬁ]tﬁ dy ERACES
L 1+54x2 ) ll+18r &

g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 405859130 Question Type : SA Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of J f(x)dr, where f(x)=|x—1|+x—2|+|x—3|is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 405859130 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ £(x)ate. T f)=lx—1+x—2+ k-3 3. PTAFT

|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 405859131 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let v = y(x) be the solution of differential equation sinx—+ ycosx=4x. If
¢

_1{%]:[} and 1|—?—};|:%fr . where @ and P are co-prime numbers, then value
of (o + ) 18

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 405859131 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
v i
HET 3{ddbd GHIHRUI sinx%fvcos:rz 4x PIed y = yx) %I afg _yl §}=U
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 405859132 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let L denote the line in the xy-plane with x and y intercepts as 2 and 1 respectively.
Fl
[ A

If the image of the point (—1. —3) in this line 1s “? - J . then a + P 1s equal

fo

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 405859132 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HHT xp-T909 H x 3fd-@S 2 dUTy 3fd-@s 1 HI@ L g ufe sgar g
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 405859133 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The length of projection of the line segment joining the points (1. 0, —1) and (-1, 2,
2) on the plane x + 3y — 5z =6 is d. then find 704”

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 405859133 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feig3il (1. 0. 1) TYUT (-1. 2. 2) DI I 90 TET WS S GHAT x + 33— 52=6
R W& @] Tdls d 8. di 704% 1 Pifog

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 405859134 Question Type : SA Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

There are two bags. The first bag contains 3 white and 4 red balls and the second
bag contains 4 white and 3 red balls. Two balls are drawn at random from the first
bag and are put into the second bag without noticing their colours. Then two balls
are drawn from the second bag. If the probability that one ball is white and the

other is red 18 % where % 15 in the simplest form. then value of (2x —y)
. : :

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 405859134 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 405859135 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Ina AABC. ZA= % If mn% and tan (T are the roots of 2x2 — bx — ¢ = 0. then

what is the value of (b — ¢)° 7
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Number : 30 Question Id : 405859135 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AABC, Z4 —% %I e FHIG 252 — bx — e =0 aﬂiﬂ mn% dyl l-.m; % ?‘ﬁ(b
—c)PHHAAT ]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Aptitude Test
Section Id : 4058597
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 4058597

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 31 Question Id : 405859136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Saturation level of colors represents
Options :

405859481. Distribution
405859482, Darkness
405859483. Brilliance

405859484, Warmth

Question Number : 31 Question Id : 405859136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
T T Wgfe (R TR wiaffa sRar g

Options :

405859481. TAcRT]

405859482, 9 SRTI (TT8XT9H)

405859483, dH®

405859484, HIR T &l



Question Number : 32 Question Id : 405859137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a shell structure?
Options :

405859485. Millenium dome

405859486, Stansted airport
405859487. Bank of China tower

405859488, Louvre. Museum

Question Number : 32 Question Id : 405859137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 O B 91 gie @rd (e WA BT 82
Options :

405859485. SiE 4G

405859486, ¥C ReS daRY c

405859487, S 31 Mg €TaR

405859488, CAX H] ST



Question Number : 33 Question Id : 405859138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the building material represented in the given figure

Options :

405859489. Tile

405859490, Paving Block

405859491. Wooden Plank

405859492, Granite

Question Number : 33 Question Id : 405859138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR HI I H Ha FHior Il & R 31 ugaH o

Options :

405859489, CIU

405859490, UTdT sdls

405859491, P16 P &l (WD)

405859492. 5 <€

Question Number : 34 Question Id : 405859139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Before plastering. the surface has to be :
Options :
405859493, Cemented

405859494, Polished

405859495, Smooth

405859496, Rough



Question Number : 34 Question Id : 405859139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WReR P 9 94 Hag Pl

Options :

405859493, HIHCS

405859494. qIei=rs

405859495, TeId ]

405859496, TH

Question Number : 35 Question Id : 405859140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who designed the 'Sydney Opera House'?

Options :

405859497. Jorn Utzon

405859498. Jan Gehl

405859499 Bjarke Ingels

405859500, Henning Lorsen



Question Number : 35 Question Id : 405859140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fRsT 3111 819 @I URS AT fhgH @ Ui

Options :

405859497, SiI- JwiA

405859498, ST 11T

4058509499, SO SoICH

405859500, BT EIEH

Question Number : 36 Question Id : 405859141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The design elements which are associated with the sense of touch
Options :

405859501 . Pattern. Shape. Form

405859502. Texture, Shape. Form

405859503, Shape. Pattern. Texture

405859504, Form. Pattern. Texture



Question Number : 36 Question Id : 405859141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@ el Siagd ol fdp T%l FHTey 9 96 § -

Options:

405859501, T, STPR, AP

405859502, TR (F1G2), PR, SHPId

405859503, SHPI, FHAL TR (d-ldc)

405859504, HTP A, THAT W= (§T1d<)

Question Number : 37 Question Id : 405859142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The First World Environment Day was held in which year?
Options :

405859505. 1973

405859506. 1976

405859507. 1978

405859508. 1970



Question Number : 37 Question Id : 405859142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

guH fdva ggiaRul fGay fe au 7= Tam 412

Options :
405859505. 1973
405859506. 1976

405859507. 1978

405859508. 1970

Question Number : 38 Question Id : 405859143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Elephanta Caves are dedicated to which God?
Options:

405859509. Budha

405859510. Tirthankar Mahavir

405859511. Shiva

405859512, Vishnu

Question Number : 38 Question Id : 405859143 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
ufethel @1 %Y g yia & 9afdd g2

Options :

405859509, S

405859510, TP TR

405859511, 191G

405859512. 7 L

Question Number : 39 Question Id : 405859144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a city type?
Options :

405859513, Garden City

405859514, Linear City

405859515, Radiant City

405859516, Stack City

Question Number : 39 Question Id : 405859144 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
fFrafafad ¥ 9 19 91 7R o9 T8 82

Options :

405859513. s ffe

405859514, faf-1aR fafe

405859515. E%QE e

405859516, TP [

Question Number : 40 Question Id : 405859145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A gigantic chariot with elaborately carved stone wheels. pillars and walls are the
characteristics of :

Options :

405859517, Konark Sun temple

405859518, Golden temple

405859519, Meenakshi temple

405859520, Dilwara temple

Question Number : 40 Question Id : 405859145 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U faenaeE Y 5 & quivsad 3@ vl g fed, Wm SR fdar
RS
Options :

405859517, P10 & g HieR

405859518, Ul AR
405859519, HITE Afdx

405859520, T&eTaRT Afdx

Question Number : 41 Question Id : 405859146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who built the Moti Masjid in Red Fort at Dellu?

Options :

405859521. Shah Jahan

405859522, Aurangzeb

405859523, Qutub-Ud-Din Aibak

405859524, Akbar

Question Number : 41 Question Id : 405859146 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

feeol g ara foed & Tl afese &1 Aair o s,

Options :

405859521, RTESE

405859522, Ao

405859523, P IE-3G-147 UTD

405859524, AP &Y

Question Number : 42 Question Id : 405859147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Spray painting 1s used to :

Options :

405859525, Get a textured pain

405859526, Reach high areas

405859527, Apply paint without touching surface
405859528, Apply large amount of paint

Question Number : 42 Question Id : 405859147 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
o) U oy T o &

Options :

405859525, T d dc %@

405859526, AT ITH &1 & forg

405859527, AT B TR foh a1 Ue T

405850528, 4P HEI H 42 B B

Question Number : 43 Question Id : 405859148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An escalator looks like which one of the following?
Options:

405859529. Ladder

405859530. Stair case

405859531, Ramp

405859532, Lift

Question Number : 43 Question Id : 405859148 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
IS T&balex Hgiaad 3 4 g &1 aig [ qar a2

Options :

405859529. g é

405859530. 4 E 2

405859531, ¥ (@)

405859532, [elUe

Question Number : 44 Question Id : 405859149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Concrete 1s a mixture of
Options :
405859533, Cement + Sand + Water

405859534, Cement + Coarse Aggregate + Fine Aggregate +~ Water

405859535, Cement + Water + Brick Bat

405859536. Cement + Sand + Water + Brick Bat

Question Number : 44 Question Id : 405859149 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Hwic P UF YU B |

Options:

405859533. Hitie + 8 [+

405859534, STHC + HICT U= + el Y= + Tl

405859535, JIHC + TRl + 3¢ D Ty

405859536, SIHE + AT + THI + 5 P ¢HS

Question Number : 45 Question Id : 405859150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What type of tile are suitable for air - conditioned rooms and gymnasium?
Options :

405859537. Cork Tile

405859538, Ceramic Tile

405859539. Concrete Tile

405859540. Wooden Tile

Question Number : 45 Question Id : 405859150 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
TP icrd HHL SR IRITHRITE] & (o [68 UHR Bl elgel ST 57

Options :

405859537, PP TIZ

405859538. SNEEI 55

405859539. Behie El%é!

405859540, P16 B I5al

Question Number : 46 Question Id : 405859151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Famous Tassel House was designed by
Options :

405859541, Victor Horta

405859542, Gerrit Rietvelt

405859543, Mies Van der Rohe

405859544, Frank Lloyd Wright

Question Number : 46 Question Id : 405859151 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
IS THd 8139 & gRI FewTg fdaar T o |

Options :
405859541. qaeR éIEi

405859542, TI¥e dee

405859543, T a1 S e

405859544, P CllHS <lgC

Question Number : 47 Question Id : 405859152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the Author of "Toward an Architecture"?
Options :
405859545, Frank Ching

405859546. Le Corbusier

405859547, Kevin A. Lynch

405859548, Frank Wright

Question Number : 47 Question Id : 405859152 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2las T IR & TEad B o2
Options :

405859545, Wdp 1T

405859546. d iE X

405859547, Pid T e

405859548, Yeh 7]

Question Number : 48 Question Id : 405859153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiroshima Peace Memorial Museum in Japan was designed by :
Options :

405859549, I. M. Pie

405859550. Tadao Ando

405859551, Kenzo Tange

405859552, Kisho Kurokawa

Question Number : 48 Question Id : 405859153 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
S H g feiim wifa wRe Sueay s gr1 fears faar mar up
Options :

405859549, 315,04, UT3

405859550, CIS! 3=l

405859551, Dl €=

405859552. U 1Tl

Question Number : 49 Question Id : 405859154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a prineciple of Design?

Options :

405859553, Emphasis

405859554, Focal Point
405859555, Unity

405859556, Rhiythm

Question Number : 49 Question Id : 405859154 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
fFafaRad & O &1 T Us fSug &1 Rigrd Tof o7
Options :

405859553, SIIR &1

405859554. 14 fa 2

405859555, YP

405859556, TTHS

Question Number : 50 Question Id : 405859155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following software 1s not used by architects
Options :
405859557. Staad. Pro

405859558. 3D Max

405859559. Revit

405859560, Sketech Up

Question Number : 50 Question Id : 405859155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Fafifad o 9 &1H 91 SiredaR aRdfdal gRT YR g1 {1 §irdl 62

Options :

405859557, &S .

405859558, 3D HaT

405859559. 3fdc

405859560. Thd 3T

Question Number : 51 Question Id : 405859156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who built the Shalimar Bagh. Srinagar?
Options :
405859561, Bega Begum

405859562, Akbar

405859563. Shah Jahan

405859564, Jahangir

Question Number : 51 Question Id : 405859156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fR ¥ wnfemr | &1 ot fegm samr ar

Options :

405859561, &1 &TH

405859562, AP EY

405859563, RIEUIE

405859564, SIGITIIY

Question Number : 52 Question Id : 405859157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kanpur, Uttar Pradesh 1s also known as :
Options :

405859565, Lhe Leather City

405859566, Wine Capital of India

405859567. The Drange Cit}'

405859568, City of Nawabs

Question Number : 52 Question Id : 405859157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
SR WS FUd FAR & A 9§ ft S S B

Options :
405859565. e RIfe (@R

405859566, HTRT B TR (HIER) AT

405859567, AR TR

405859568, TaTal BT WET

Question Number : 53 Question Id : 405859158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How the load is transfered from the super structure to sub structure?

A, Beam
B. Slab

C. Foundation

D. Earth

E. column

Choose the correct answer from the options given below:

Options :

405859569, 4. B.E.D.C
405859570. E-A.C.B.D
405859571, 4. B.C.D. E

405859572, B.A.E.C.D



Question Number : 53 Question Id : 405859158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

YR B HIEEREAT 9 ITEE- & od Sgidid f&ar ordr g2

A, 99 (839)
B. Wi (ufean
c. i
D. 4
E. Blad (Y)
Fafaiad fasedl H 9 9l 3o &1 94 Sl :

Options :

405859569, A.B.E.D.C

405859570. E.A.C.B.D

405859571. A.B.C.D.E

405859572, B.A.E.C.D

Question Number : 54 Question Id : 405859159 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Question figure shows the 3D view of an object. Identify the correct view,
looking in the direction of Arrow. identify the correct view of the object.

Options :

405859573. j| |7

405859574.
405859575.
405859576.

Question Number : 54 Question Id : 405859159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



TP P bl a%g @1 3D TR SNl & IR Bl fa=n § ef$71d &vd gu
ol T B UgdH By:

Options :

405859573. j| |7

405859574.
405859575.
405859576.

Question Number : 55 Question Id : 405859160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The question figure shows the 3D view of an object. Identify the correct top view
amongst the answer figures.

P

-, a B e |
5 - i
-
r\x‘u.--" e
. T J\I
et T o
T
T
=
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o

I.H'--.-"”j
i
< Ty
- :

T

Options :

405859577.

405859578.

405859579.

405859580.

Question Number : 55 Question Id : 405859160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UHTS Y Tl Tl a%] BT 3D =20 &Xidl §1 IR pfaal ¥ 4 Fel 2
€Y Pl UG He |

-
-

" e TR
i,

Options :

405859577.

405859578.

405859579.

405859580.

Question Number : 56 Question Id : 405859161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the mirror image of the given word with respect to X-X

K gssraraiies M

MOUSE
Options :

405859581, WONSE



405859582. WONZE
405859583, WOUZ23

405859584, WOUZE

Question Number : 56 Question Id : 405859161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X-X & gy ¥ f3U 70 s & U uiafds (fame) &1 tgam &%

X X

MOUSE
Options :

405859581, WONSE

405859582, WONZE

405859583. WOUZ23

405859584, WOUZE

Question Number : 57 Question Id : 405859162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



. RN

When the paper 1s folded 1n a given pattern and it 1s cut at the end. Identify which
pattern is formed when the paper is unfold.

Options :
. A% ’ .
SR
405859585, s __sle o%.

405859586, k=4~ __=

405859587. L=

]
- : ]
i
o A% o)
- e (o -

405859588, s __eis e

Question Number : 57 Question Id : 405859162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g ...... U {(} I\\

g U HITol B U Y Yol 30 HIST 9T 8. 3 § H1el oifdl 8. UgaH
@~ [ OTd BT ST (3Fhies) [ Wi &1 91 U g |

Options :

405859585, L's__s.

1
~ i -,
. e
LY I #
~ o

-\illn.r
[ .\*.a|. a
r LN |

PR N

405859586, kL= A=

405859587. L=

. :
- ]

ey i

i
s LAkl =
s ¥ s

405859588, Lia__sis _e°

Question Number : 58 Question Id : 405859163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the figure which is odd from rest of the figures.
Options :

405859589.



N
N

N
N\

7

o

Z
405859590. 252?

405859591.

7

N

%
405859592./i;£

Question Number : 58 Question Id : 405859163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&l 7% Spfadl H U 39 SPHid Bl UgdH B ol 41! 9 3 &

Options :

N
N

N
N

405859589.




7//

N

405859590.

405859591.

7
405859592. %

Question Number : 59 Question Id : 405859164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Stone masonary iz classified into two parts - Random rubble and
ashlar masonary.

Statement IT : Random Rubble masonary. each stone is cut to uniform size and
shape with all sides rectangular so that stones gives perfect joints.

In the light of the above statements. choose the correct answer from the options
given below

Options:

405859593. Both Statement I and Statement II are true

405859594, Both Statement I and Statement I are false



405859595, Statement I 1s true but Statement I 1s false

405859596, Statement I 1s false but Statement II 1s true

Question Number : 59 Question Id : 405859164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e A Py AU @ ©: ﬂ H
%:Wwﬂﬁﬁﬁwﬂﬁaﬂwmw%-i%ﬂwmm
FYT 11 : 357 To5d oL, TP TR & GH-HHR H HIe ol & 3R Jaft
3R Y B Y i & AU SadPR 9 H Srel Sl ¢ | dlfd R J gRyut
s fagr &1 9o |

IURIad DYl & 3TelP i U MU fadedi T U ggl SR &1 90 D

Options:

405859593, QM ®YA-1 3R HY-11 Tl & |

405859594 &I ®YH-I SR HYA-IT 7Tad § |

405859595, PU-1 Fe! fbrg HYUH-11 717 B |

405859596, PUA-1 TTad febrg HU-11 W1 B |

Question Number : 60 Question Id : 405859165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the type of Garden by understanding the elements used in the given
picture:

Options :

405859597, Roman Garden

405859598. Japanese Garden

405859599, French Garden

405859600. Chinese Garden

Question Number : 60 Question Id : 405859165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



& T = T v U 71U siqudl 1 99id gU 91 (TTSH) 1 UgdT &y

Options :

405859597, I TS

405859598, ST TS

405859599, g e+

405859600, A1 I S

Question Number : 61 Question Id : 405859166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1I LISTII
A |Rila Monastery I |Egvpt
B. |Moha Bodhi Temple| II. |Bulgaria
C. |Wadi al Hitan I11. |Malta
D. [Valletta IV, |India

Choose the correct answer from the options given below:
Options :

405859601, A-IV. B-III .C-I .D-II
405859602, A-IL. B-IV .C-I1 .D-III
405859603, A-IV. B-1 .C-II .D-III

405859604, A-IL. B-IV .C-III .D-I

Question Number : 61 Question Id : 405859166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 Al 11 & 1Y T &1
= T I
frergHwsr | 1 |
Heraidl #fex| 1w [gemiar
qItg e fged | 111 [Areet
deieT IV, |4Rd

+d feu U fa el § I ol 3R &l 90+ oy

Options:

=

FIEIE

405859601, A-IV. B-III .C-I .D-II

405859602, A-IL. B-IV .C-I .D-III



405859603, A-IV. B-I .C-II .D-III

405859604, A-IL. B-IV .C-III .D-I

Question Number : 62 Question Id : 405859167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the name of the monument :

Options :

405859605. The Pantheon

405859606. The Cathedral of Pisa

405859607. The Parthenon

405859608, Creat Temple of Karnak

Question Number : 62 Question Id : 405859167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
RS & H DI I8 De:

Options:

405859605, &l JU=

405859606, o PUST AT T

405859607. &l TIA

405859608, U I HTH PHIH

Question Number : 63 Question Id : 405859168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D view of an object. Identify the correct view.
looking 1n the direction of Arrow :

A
Options :



Question Number : 63 Question Id : 405859168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Y 3Tl i a%g 1 3D T2 SRl 81 R 1 (G P71 PR gU IR
T B gg g o

g--gs

A
Options :

405859609.



Question Number : 64 Question Id : 405859169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct mirror image of the given figure along X-axis.

X

Options :

405859613.



>

/

405859614.

405859615.

405859616.

Question Number : 64 Question Id : 405859169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X-axis @ GIY Pl & Gel qUUI (919 BT g B

N
%

Options :

405859613.



>

/

405859614.

405859615.

405859616.

Question Number : 65 Question Id : 405859170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the Mirror image of given word

ARCHITECTURE

-

Options :
405859617. ARCHIT3OTUAHS

405859618. IAUTIOITIHOAA



405859619. ARUTIOETIHOAHA

405859620. IAUTOETIHOAHA

Question Number : 65 Question Id : 405859170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

feu 770 9reg & U f9rE & UgaH 1|

ARCHITECTURE

- -

Options :

405859617. ARCHIT3OTURAS

405859618. IHUTIOITIHOAA

405859619. ARUTIOETIHOAA

405859620. IAUTOETIHOAA

Question Number : 66 Question Id : 405859171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the true mirror image of the figure amongst the answer figures with
respect to X-X

oV
%

X

Options:

405859621.

i
s

405859622.

%
/'\

405859623.

=7
%

405859624.

Question Number : 66 Question Id : 405859171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X-X & gy T IR DI H H Hl 34U f67d DI U5 B

X

oY%
//

Options :

405859621.

i
s

405859622.

%
Zh

405859623.

7
p

405859624.

Question Number : 67 Question Id : 405859172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct figure to complete the sequence :

==l "l 2

Options :

405859625.

405859626.

|

405859627.

405859628. L

Question Number : 67 Question Id : 405859172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&1 715 STpfadl & Hgl S H & UgdH D

= | = ?

Options :

405859625.

405859626.

405859627.

405859628. L

Question Number : 68 Question Id : 405859173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Complete the number series

10. 30, 68, 130. . 350



Options :

405859629. 222

405859630. 192

405859631. 220

405859632. 116

Question Number : 68 Question Id : 405859173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3! D G B J0] P
10. 30. 68. 130. . 350
Options :

405859629. 221

405859630. 192

405859631. 220

405859632. 216

Question Number : 69 Question Id : 405859174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In a clock. the time 1s 11:35 AM. The clock 1s so placed that its hour hand is facing
North-West. In which direction will be minute hand facing?



Options :

405859633. South- East
405859634. South-West
405859635, North-West

405859636. North- East

Question Number : 69 Question Id : 405859174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% [GaR Usl & 999 § 11:35 UaiE, (4R S 59 UBR 4 T 7T © [P SHD
Hel I s - I - Uit & SifigE g1 fire o 38 fow leen &t siftaga gt

Options:
405859633, 1G0T - T4

405859634, GI&IUT - Ti&H

405859635, 3TN - JI%H

405859636, ST% - E{ﬁ

Question Number : 70 Question Id : 405859175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
A |Brick [. |Dampness Prevention
B. |Arch II. |Bevelled closer
C. |Lintel III. |Openings
D. |Cavity wall IV. |Span

Choose the correct answer from the options given below:
Options :

405859637, A-IV. B-1I. C-1. D-III

405859638, A-IL. B-I. C-III. D-IV

405859639, A-III. B-I. C-II. D-IV

405859640, A-IL. B-IV. C-III. D-I

Question Number : 70 Question Id : 405859175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 g 11 ¥ i &3

g1 g
A lge 1 |t e
B. [fgxe 1. [s3ds gaer
C. |fTea 111 | 3frafg
D. [®f3fe ard IV. s

f4U U f[dedl § I Tol 3R &I 9U-
Options:

405859637, A-IV. B-1I. C-1. D-III

405859638, A-IL. B-I. C-III. D-IV



405859639, A-IIL. B-I. C-II. D-IV

405859640, A-IL. B-IV, C-III. D-I

Question Number : 71 Question Id : 405859176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Buildings) (Architects)
A |Habital67 1 |F.L. Wright
B. |Falling Water II. |Moshe Safdi
C. |Gherkin Tower ITI. |Louis Kahn
D. |Fisher House IV. |Norman Foster

Choose the correct answer from the options given below:
Options :

405859641, A-IL. B-I. C-IV. D-III

405859642, A-IV. B-II. C-III, D-I

405859643, A-IV. B-1. C-I1. D-III

405859644, A-L. B-1II. C-IV. D-II

Question Number : 71 Question Id : 405859176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gl 11 i 11 F i &

gH1 T 11
(Hd) (@ATPN)
A [Rfges s I o . Tse
B. |wIfeRT arey I |9= 9wie
C. [ffdT e L. |39 @18
D. PR B89 IV. [9789 e
-4 feu T faoedl # 9 w6t SR I

Options:

405859641, A-IL. B-I. C-IV. D-III

205859642, A-IV. B-I1. C-III, D-I

405859643, A-IV. B-. C-I1. D-III

405859644, A-L. B-1II. C-IV. D-II

Question Number : 72 Question Id : 405859177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the famous building in the given picture :

Options:

405859645, Mysore Palace



405859646, Khalsa Heritage Complex

405859647, Hotel Taj Mahal Palace

405859648. Victoria Memorial

Question Number : 72 Question Id : 405859177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fau Y o F guilg 4o &l UgaH &

Options :

405859645. R Terg

405859646, GTAH gReS STy

405859647 Bicd dlol H8d Uag

405859648, fdaeiar HHIRTA



Question Number : 73 Question Id : 405859178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
"LEED' stands for :

Options :

405859649, Leadership in Energy and Environmental Design

405859650, Leadership in Environmental and Energy Design

405859651 . Leadership in Energy Efficient Design

405859652, Leadership in Environmental Energy Design

Question Number : 73 Question Id : 405859178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LEED' &1 37:
Options :

405859649, TISYRINY § Tl U8 UHAMRAC fSuire

405859650, 18RI 5 THATERH TS UGl fgullg

405859651, TISY 2 Tull U RIUT fEug

405859652, ISR S TAIERACH Uull [SuilgH



Question Number : 74 Question Id : 405859179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

From the given 3D view of an object, identify the most appropriate elevation
looking in the direction of the given arrow :

Options :

405859653.

405859654.

405859655.

405859656.

Question Number : 74 Question Id : 405859179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

=g T 9% &7 3D =%0 3 IR I 3= ¢ AR famn & waife Suga
I & UgdH B

Options :

405859653.

405859654.

405859655.

405859656.

Question Number : 75 Question Id : 405859180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



From the given 3D view of an object, identify the most appropriate elevation
looking in the direction of the given arrow.

Options :

405859657.

405859658.

405859659.

405859660.

Question Number : 75 Question Id : 405859180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



&g 718 3D G H1 3D T &9 SR, IR &1 fexn # fgwgn arel waffers Sugad
I &I UgdH He |

Options:

405859657.

405859658.

405859659.

405859660.

Question Number : 76 Question Id : 405859181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct top view of the given 3D image from the options.

e — _::_-m%f,ﬂ
"‘—-\_\_\_\__\_-h e __.-'—""f
Options :
-

405859661, | F

405859662. J

405859663. L

405859664, /

Question Number : 76 Question Id : 405859181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feu 0 faweal § 9 9 70 3D 7 & 9! iy evg &1 99+ o3

Options :

405859661, | T

405859662. J

405859663. L

405859664, L__—

Question Number : 77 Question Id : 405859182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the True mirror umage of the figure amongst the answer figures with
respect to X-X.

X

x
Options :
405859665,
p
405859666,
405859667, L—

405859668. e

Question Number : 77 Question Id : 405859182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X-X & Ha¢ T Gk Spiadl o T Tgl g 3ld & 7 3t ugaH &e:

X

x
Options :
405859665,
p
405859666.
405859667, L—

405859668, I

Question Number : 78 Question Id : 405859183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 15 labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Green buildings have a lower life cycle cost than conventional
buildings.

Reason R : Green buildings require less maintenance and have lower energy and
water consumption.

In the light of the above statements. choose the most appropriate answer from the
options given below :

Options :

405859669, Both A and R are correct and R is the correct explanation of A
405859670, Both A and R are correct but R 1s NOT the correct explanation of A

405859671. A is correct but R 1s not correct

405859672. A is not correct but R 15 correct

Question Number : 78 Question Id : 405859183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- &l By (4T TTU §: U &l iy A 3ifdrd fvam a1 § IR g8R &1 HRUI
R & U1 siftrd fpur mar

3ifi@y A - 5Rd yaH &1 oifa =9 IRIRS Yol B ga1 H o ST g

PRUTR : 5Rd Yl & WaI@Id B HH AGRAH A 8ldl & AR I8 HH Ful
IR o & @ud glat o

SWRIad B P 3fdi § A [T Y f[ddhedi 5 § ol 39gad IR PI 90+
T

Options :

405859669, &Il A 3R R T8I & YU R, A BT el WFISHU E |




405859670, &I A 3R R HE! € =g A T el WHHRU R &I

405850671, A T8I § f=] R TE1 Tl 5

405859672, A TEI el § [P R TEI G

Question Number : 79 Question Id : 405859184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

|

:

l_
—| IS
=

A |Tower Bridge L

B. |Tori II.

C. |Stonehenge ITI.

T |EEEES
I 3.
T [EEETS

k)
m
i

D |Petronas Tower v

Jegt=-
\
/

R

Choose the correct answer from the options given below:
Options :
405859673, A-IIL. B-II. C-IV, D-I

405859674, A-IV. B-III. C-1. D-II



405859675, A-IIIL. B-II. C-1. D-IV

405859676, A-IV. B-1. C-I1. D-III

Question Number : 79 Question Id : 405859184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Il 11 9=l 11 § fie &%
il GGl
—E 8
A e faw L I ‘
o g
B. [ IL.
T
A4
non
C. [EHge m. | = B
Ial
. ilj——il
D. |4gHY <la? I E’" "“'E
i feU U fop ol § I ol 3R &l 904 B
Options :

405859673, A-IIL. B-II. C-IV. D-I

405859674, A-IV. B-1II. C-I. D-II

405859675, A-IIL. B-II. C-I. D-IV

405859676, A-IV. B-1. C-II. D-III



Question Number : 80 Question Id : 405859185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the building material prumarily used for cladding in Lotus Temple :

Options :

405859677. Dolomite

405859678. Lime

405859679. Marble

405859680. Granite

Question Number : 80 Question Id : 405859185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AICH A= & SaRUT H WO &1 Ty HaH 010 &t 9gE Sl o UgaH oy

Options:

405859677. SGie IEE

405859678, &1 (CTTgH)

405859679, STHIHY (1 aﬁl)

405859680. 2 IEE

Planning
Section Id : 4058598
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 4058598
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 81 Question Id : 405859186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the full form of NABARD?

Options :

405859681 . National Bank for Agriculture and Rural Development

405859682, National Bank for Agriculture and Road Development

405859683, National Bank for Agriculture and River Development

405859684, National Bank for Agro farming and Reproduction

Question Number : 81 Question Id : 405859186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Tars @ quf s 82

Options :

405859681 TXd 8% B WidedR IS &Id saaqd<

405859682, TXd 8% B Wided? UUS IS SaadH—<



405859683. IYd §F BR TidedR UUS IdR Sdaud—<

405859684, -l 6 R I BITHT UUS AuTSa=

Question Number : 82 Question Id : 405859187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the following pie chart which superhero is second most popular hero ?

THOR

HULK
BATMAN

I [RON MAN

SPIDER MAN
SUPER MAN

Options :

405859685. HULK

405859686. THOR

405859687. SUPERMAN

405859688. SPIDERMAN

Question Number : 82 Question Id : 405859187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

- faU T U1 A1E & SR $H-I1 g0 ER1 3 31 Ta9 Al Rl 82

Options :

405859685, B

405859686, YR

405859687, JXH

405859688, *H1%S T

Question Number : 83 Question Id : 405859188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When was Indian National Congress set-up?
Options :
405859689. 28 December 1885

405859690. 28™ November 1887

405859691. 28™ October 1886



405859692, 28™ December 1888

Question Number : 83 Question Id : 405859188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR AT DY B RITTH Hd P 7T 2P

Options :

405859689, 28 faOmaY 1885
405859690, 28 TaTEY 1887

405859691, <8 STFCAY 1886

405859692, 28 Ta O 1888

Question Number : 84 Question Id : 405859189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the given diagram the AP line represents a

Options :

405859693, Ridge line

405859694, Slope line

405859695, valley line

405859696. Vertical line

Question Number : 84 Question Id : 405859189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feu M SRE & AP X@ icd § |
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Options :

405859693, cd 1@]

405859694, @@l Y@l

405859695, HICT 3dI

405859696, 3@’ @]

Question Number : 85 Question Id : 405859190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{(World Heritage site) (State)
A |Agra fort i I. |Chittorgarh, Kumbhalgarh
B. |Ellora caves II. |Uttar Pradesh
C. |Hills forts of Rajasthan ITT. |Maharashtra
D. |Buddhist Monuments at Sanchi| IV. |[Madhya Pradesh

Choose the correct answer from the options given below:

Options:



405859697, A-IL. B-III. C-1. D-IV

405859698, A-L. B-II. C-III. D-IV

405859699, A-IV. B-IIL. C-II, D-I

405859700, A-L. B-II. C-IV. D-III

Question Number : 85 Question Id : 405859190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I 18 Gl 11 BT A Sif:
I T 11
@%?ﬁﬂ?ﬁ) (T
A |amm fopen 1 |fdiee, FHETe
B. |UCRI &I W] I (SR ue™
C. [Ro=H & ugral fabed 1L |HERIP
D. [Hid & dis FIR® V. (g U
= fdu TTu fosedl T 9§ 98l 3R g
Options :

405859697, A-IL. B-III. C-I. D-IV

405859698, A-L. B-II. C-III. D-IV

405859699, A-IV. B-IIL. C-II. D-I

405859700, A-L B-II. C-IV. D-III



Question Number : 86 Question Id : 405859191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

"Jai Vigyan" slogan was given by which Prime Minister of India?

Options :

405859701 . Rajv Gandhi

405859702, Atal Bihari Vajpayee
405859703. Narendra Mod:

405859704. H.D. Deve Gowda

Question Number : 86 Question Id : 405859191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YR & [T UYHHAT & GRI "1 fag=" &1 FR7 a7 741 4
Options :

405859701, Iroiid TIE

405859702, Hed [SERI aeuy

405859703, %5 Tl

405859704, UH. SI. GaTISI



Question Number : 87 Question Id : 405859192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Planning Commission of India was launched in the year of 1952.

Statement II : From 1 January 2015. Planning Commission of India was
replaced by NITI Ayog.

In the light of the above statements. choose the correct answer from the options
given below:

Options :

405859705. Both Statement I and Statement IT are true
405859706. Both Statement I and Statement II are false
405859707. Statement I 15 true but Statement II 1s false

405859708. Statement I 1s false but Statement II 1s true

Question Number : 87 Question Id : 405859192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I ICACURI S
PYT 1 : YR P TIoHT TN BT RIGET T8 1052 H BTG |

WUT I : 1 903 2015 Y HRd & GISHT TN & R O HIfd 37T
PG IR

SR DY T Pl B YR W, 4 47 71¢ fawedi & I I 3fad I MU

Options :

405859705, BYUT 1 AUT HY 11 311 Jol &



405859706, PUT I AUTHYF 11 &1 TTad 6|

405859707, DU 1 Tal & e HU_ 11 TTad |

405859708, PUF 1 TTAd & dfdhd HYU= 11 Fal |

Question Number : 88 Question Id : 405859193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GST was introduced as which amendment act?

Options :

405859709, 100

405859710, 1015t

405859711, 10214

405859712, 103

Question Number : 88 Question Id : 405859193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Siuget! fog gened Ui-ge & =9 5 U9 foar Tam

Options :

405859709. 100dI



405859710, 101dT

405859711, 102di

405859712, 103dl

Question Number : 89 Question Id : 405859194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following trade did the early enterpreneurs make a fortune ?

A. Textile trade
B. Trade 1n tea
C. Industries
D. China trade
E. Wooden

Choose the correct answer from the options given below:
Options :

405859713, 4 only

405859714, B only

405859715, D only

405859716, C only

Question Number : 89 Question Id : 405859194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

fr=fafEa 3 9 & 3 R ¥ uRfie il 3 o= $amr 2

A. CFICIGA AMUR
B. 910 &1 AR
C. I Y=

D. dIF &1 AUR
E. ®IY AR

A2 Ry e 3 3 od SRR

Options :

405859713, Bad A

405859714, $4d B

405859715, $Gd D

405859716. BT C

Question Number : 90 Question Id : 405859195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who gave the statement "Agriculture 1s the soul of India" ?

Options :
405859717. Sardar Vallabhbhai Patel

405859718. Jawaharlal Nehru

405859719. Mahatma Gandhi

405859720, Sarojini Naidu



Question Number : 90 Question Id : 405859195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"D, YR DI AT 5" T8 HYA [Pl 82

Options :

405859717, Hiall denlH ‘]-HEF 0cd

405859718, STATEX ATd 6%

405859719, BT Mgt

405859720. SAURE g

Question Number : 91 Question Id : 405859196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the following pie chart which super hero 1s the most popular hero?

THOR

HULK
BATMAN

I IRONMAN

SPIDER MAN
SUPER MAN

Options :

405859721. HULK



405859722. SUPER MAN
405859723. BAT MAN

405859724. THOR.

Question Number : 91 Question Id : 405859196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[T U UTg 91¢ & SR, B4 1 Jaiad A8 411986 TR 7106 52

Options :

405859721, Bvd

405859722, IR H

405859723, §¢ B

405859724, UR



Question Number : 92 Question Id : 405859197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Name of the ports which grew during the colomnial period.

A. Bombay
B. Calcutta
C. Surat

D. Shillong
E. Kanpur

Choose the correct answer from the options given below:

Options:

405859725, A. C only
405859726, A. B only
405859727, A. D only

405859728, A. E only

Question Number : 92 Question Id : 405859197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIGFARIS HTd & GRM. BIF I §aA1M6 b iad gl

A g

B. Hadl
C. {xd

REUNIL]
E. PR

i fGu 7T fJas el O 9 el 3T &1 994 Siflu:

Options :




405859725, Hac A, C

405859726, PAT A, B

405859727, PAT A, D

405859728, PAT A E

Question Number : 93 Question Id : 405859198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : Ninteenth century indenture has been described as a 'new system of
slavery'.

Reason R : New races of slaves were bought and encouraged to work far away
from their home land.

In the light of the above statements. choose the most appropriate answer from the
options given below:

Options :

405859729, Both A and R are correct and R 1s the correct explanation of A

405859730, Both A and R are correct but R 1s NOT the correct explanation of A

405859731. A is correct but R is not correct

405859732. A 1s not correct but R 1s correct



Question Number : 93 Question Id : 405859198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

9 3 BYF [GU T B | U Bl SffNaY= A 3ifdhd [ man 8, IR g 1
HRUTR 3ifdrd faar T &

JTUHYUT A : FHgdl Weilec b TR 1 el 31 ueb 75 woiel & =9 5
aftfa fepam T 81

SRR : A DI 5 Tl DI A1 7T HR 37 391 O U Y R BH
B DI UicTigd fopa 7T |

SR BB MU HY & YR R, 71 a2 72 fdeped! # 9 gifd IR gHE:

Options :

405859729, A 3R R S UE! €, A P! TSI ARSATR T

405859730, A SR R a1 FEl 8. [h=q R. A ! He! uReA 6l Bl

405859731, A eI © [P R TR I ©

405859732, A el 761 € [ R WEI T

Question Number : 94 Question Id : 405859199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are included in basic services in a developing country

A. Water supply
B. Broad Band
C. Transport

D. Electricity

Options :



405859733, A.B.C
405859734, A.B.D
405859735, B.C. D

405859736, A. C. D

Question Number : 94 Question Id : 405859199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiad § 9 &H 91 U [ id <=1 &1 e Jarsi & Fiarierd 82

A. oG STYfd
B. SIS dUS

C. gramE
D. feretet! amafd

Options :

405859733, A.B. C

405859734, A.B.D

405859735, B.C. D

405859736. A. C. D

Question Number : 95 Question Id : 405859200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The first garden city 'Letchworth' was designed by

Options :

405859737, Clarence Perry
405859738. Ebenezar Howard

405859739, Raymond Unwin

405859740. Patrick Geddes

Question Number : 95 Question Id : 405859200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
yYH I TR agad & gIRI feoe foar mar or:

Options :

405859737, TR~ Ut

ot " i
405859738, KE-vix ©ldS

405859739, YHUS SIA (3HId)

405859740. ié»-i St

Question Number : 96 Question Id : 405859201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

In case of residential apartments. the effective floor area available for use within
an apartment is known as;

Options :

405859741, Carpet area

405859742, Built up area

405859743. Plinth area

405859744, Super built up area

Question Number : 96 Question Id : 405859201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
IR SUeh=< 4, $d Iudiil Yad &9 o {4 =19 I SHEI Sl 82

Options :

405859741, PTUC &F

405859742, MHd &3
405859743, HTUR &

405859744, STl THIT &1 (R o T &)

Question Number : 97 Question Id : 405859202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The following pie chart gives us a picture of popularity of super hero. From this
pie chart identify which of the following statement 1s/are correct.

THOR

HULK
BATMAN

I IRoNMAN

SPIDER MAN
SUPER MAN

A. Spider man 1s the most popular super hero
B. Iron man 1s the least popular super hero
C. Popurlity of Batman and Spider man are equal.

Options :

405859745, A only

405859746, B and A only

405859747, C only

405859748, A and C only

Question Number : 97 Question Id : 405859202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



fear T uTg 91e ue gaian Aue o uRifE Sl eufar s, disqug 9 &
YR R, FEffea s I oY et ae

A WY 19 999 e ufing gaivq 9us g |
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C. §eiF 3R WEe 34 o UiEfg SR Bl

Options :

405859745, Had A

405859746, Hdd B 3T A

405859747. B4 C

405859748, Bad A 3R C

Question Number : 98 Question Id : 405859203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I : America's civil war is responsible for cut off raw cotton from US.

Statement IT : America's civil war is responsible for cut off crops that came from
US.

In the light of the above statements. choose the meost appropriate answer from the
options given below:

Options :

405859749. Both Statement I and Statement IT are correct
405859750. Both Statement I and Statement II are incorrect
405859751. Statement I is correct but Statement II is incorrect

405859752, Statement I 1s incorrect but Statement II 1s correct

Question Number : 98 Question Id : 405859203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

405859749, DU I AR HYF 11 I HU- Tal g

405859750, BUL I 3R HYT 11 21 HYF Tad o



405859751 PUT 1T ©. b DY 11 ¥E1 Te1 5

405859752, PUT I el -Tol 6, Afdd HYA I Tol o

Question Number : 99 Question Id : 405859204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The bar graph shows the preferred breakfast food for 40 students. The number of
students who prefer parathas as a percentage of the total number of students is

s
201
515 7
7 10- /
= % 7
;5
2 4 // 7 R% X
Parathas Toast Cereal Egps
Options:

405859753. 215%

405859754, 40%

405859755. 37.5%

405859756. 27.5%

Question Number : 99 Question Id : 405859204 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

405859753. 25%

405859754, 40%

405859755. 37.5%

405859756. 27.5%

Question Number : 100 Question Id : 405859205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which city planning is related to Lutyens?

A. Chandigarh
B. Gandhinagar
C. New Dellu
D. Chennai

E. Kolkata

Choose the correct answer from the options given below:

Options :

405859757, A only

405859758, C only



405859759, D only

405859760, E only

Question Number : 100 Question Id : 405859205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o R1ER 1 IoHT icds F Hafdd 3°

A. dUSHIG
B. MR
C. 75 feaat
D. Ty

E. ®IddIdl

fu Ty faedl © 4 Tl SR gHE:

Options :

405859757, Pad A

405859758. Had C

405859759, ©Gd D

405859760. G E

Question Number : 101 Question Id : 405859206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I : Fourth five year plan was launched in 1969 under the leadership of
Indira Gandhi.

Statement IT : Green revolution was an important aspect of third five year plan.

In the light of the above statements. choose the correct answer from the options
given below:

Options :

405859761. Both Statement I and Statement IT are true
405859762. Both Statement I and Statement II are false
405859763. Statement 1s correct but Statement 1T is false

405859764. Statement I 1s incorrect but Statement II 1s true

Question Number : 101 Question Id : 405859206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A4 < Py Ry @

®Y 1 : 1] UFau g gIoT 1969 H g-aR1 11T & g § WR™ 1 1t o
HYF 11 : gRd Hifa. Jeitg daaulg o1 &1 geayof usq ot

SRR f3u U Syl & SnyR 91, f3U MU fadhedi O § 981 SR &1 991 DI

Options :

405859761 PUT 1 R HYUF 11 HI HU- Tal gl

405859762, PUT I AR HYF 11 SIH1 HUF TTad 5|

405850763, PUT 1 e 8. b= U= 11 7Tl B



405859764, PUT 17T 8. fog HUT 11 TET B

Question Number : 102 Question Id : 405859207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given diagram the AA is located in a

100 95 90 85 80
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80
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100

AN

Options:

405859765, Ridge

405859766. Lake

405859767. Plain Land

405859768, Valley

Question Number : 102 Question Id : 405859207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options:

405859765, <Gl

405859766, HIC

405859767, THIC H&[

405859768, HIC!

Question Number : 103 Question Id : 405859208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In reference to the given pie chart. Two statements are given
statements I : The population of ST-hills is equal to SC category

statements II : The population of OBC category 1s lesser than combined
population of SC & ST Hills.

In the light of the above statements. choose the cerrect answer from the options
given below:

Options :
405859769. Both Statement I and Statement IT are true
405859770. Both Statement I and Statement II are false

405859771. Statement I is true but Statement II is false

405859772. Statement I 15 false but Statement II 1s true

Question Number : 103 Question Id : 405859208 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 104 Question Id : 405859209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The given pie chart shows the division of employees in different department of a
company where the total no. of employees is 3000. Find out the number of
employees working in accounts and R & D department respectively.

R&D

PRODUCTION
SALES

I MARKETING
ACCOUNTS

Options :

405859773, 600. 200
405859774, 600. 300
405859775, 900. 300

405859776, 200. 200

Question Number : 104 Question Id : 405859209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 71 uTg =I1e Ue Sl & faftre faum & erd oHEial o 9ol gmiar
%lﬁﬁﬁﬁ%ﬁ?ﬁﬁﬂﬁﬂﬁﬁﬂﬁﬂﬂ%ﬁﬁﬂﬁﬁﬁ@@%
Jd I

3T Ud far

Options:



405859773, 600. 200

s

405859774, 600. 300

L]

405859775. 200. 300

405859776, 200. 200

Question Number : 105 Question Id : 405859210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is
labelled as Reason R

Assertion A : In 20™ century. handloom cloth production expanded steadly.
Reason R : This was partly reason of the technological changes.

In the light of the above statements. choose the correct answer from the options
given below:

Options :

405859777, Both A and R are true and R 1s the correct explanation of A

405859778, Both A and R are true but R 1s NOT the correct explanation of A

405859779. A is true but R 1s false

405859780. A 1s false but R 1s true

Question Number : 105 Question Id : 405859210 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 1

Sub-Section Id : 4058599
Question Shuffling Allowed : No
Is Section Default? : null

Question Number : 106 Question Id : 405859211 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50

Draw a proportionate Sketch of the image given below in detail. Sketch this using
Black and White Medium only.

Question Number : 106 Question Id : 405859211 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50
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Question Number : 107 Question Id : 405859212 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50

Combine Musical Instruments like Guitar, Microphone (mic). Drums. Tabla.
Keyboard, ete. into a 3D Abstract Sculpture, using different colors to represent
various Texture and Instruments. You can scale each object to any size of your
choice. Apply the effect of light and shadow on your Sculpture.

OF.

Considering yourself as one of the spectators. draw a beautiful sketch of a Football
stadium where a match 1s going on.

Question Number : 107 Question Id : 405859212 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50
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